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evaluated at the point (cos n,sinn). Then, the limit Iim a,is
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(c) y(x) = 0 has exactly one solution in (0,1) (d) y(x)
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PR, Let v: A — J#be a twice differentiable function such that y*’ is continuous on [0 1] and
. Suppose, ¥y’ (x)+x% < 0V x €[0,1]. Then,
g7 (x)>0V xe(0,1) (b) y(x)< 0V x [01
one sajfion in (0, 1)

(b) f* has atleast 1 z
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g{i.et f:(-1,1) — Afbe a differentiable function satisfying f(0) = 0. Suppose, there exists an M > 0,
R

such that | " (x)|< M|x| ¥ x € (-1, 1). Then,
{a) f"is continuous at x =0 (b) f* is differentiable at x =0 7<‘? 0
(c) f{"is differentiable at x = 0 (d) (f*)% is differentiable at x = 0 \A L 0
I _xb = A
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Let R — R be defined as follows : - : o




52. The global minimum value of f(x) =|x - 1|+|x - 2| on Ris equal to ............ . (rounded off to
two decimal places)



